
1 5 study guide and intervention solving
inequalities
1 5 Study Guide and Intervention Solving Inequalities

In the realm of algebra, understanding how to solve inequalities is a crucial skill that lays
the foundation for more complex mathematical concepts. Inequalities are expressions that
show the relationship between two values when they are not equal. Unlike equations,
which assert that two expressions are equivalent, inequalities indicate that one expression
is greater than, less than, greater than or equal to, or less than or equal to another
expression. This article serves as a comprehensive study guide and intervention resource
for students seeking to master the art of solving inequalities.

Understanding Inequalities

Inequalities can be represented using the following symbols:

- Greater than (>): Indicates that the value on the left is larger than the value on the right.
- Less than (<): Indicates that the value on the left is smaller than the value on the right.
- Greater than or equal to (≥): Indicates that the value on the left is either larger than or
equal to the value on the right.
- Less than or equal to (≤): Indicates that the value on the left is either smaller than or
equal to the value on the right.

For example, the inequality \(x > 5\) means that \(x\) can be any number greater than 5,
while \(y \leq 3\) means that \(y\) can be any number that is less than or equal to 3.

Types of Inequalities

Before diving into the methods of solving inequalities, it is essential to understand the
different types of inequalities:

1. Linear Inequalities

Linear inequalities are similar to linear equations but include inequality symbols. An
example of a linear inequality is:

\[ 3x + 2 < 11 \]



2. Compound Inequalities

Compound inequalities involve two inequalities connected by the word "and" or "or." An
example of a compound inequality is:

\[ 1 < x + 3 < 5 \]

This compound inequality can be broken down into two separate inequalities: \(1 < x + 3\)
and \(x + 3 < 5\).

3. Absolute Value Inequalities

Absolute value inequalities involve expressions that contain absolute values. An example
is:

\[ |x - 4| < 2 \]

This indicates that the distance between \(x\) and 4 is less than 2.

Solving Linear Inequalities

Solving linear inequalities follows a procedure similar to solving linear equations, with
some key differences in handling the inequality sign.

Step-by-Step Process

1. Isolate the Variable: Just like in equations, the goal is to get the variable on one side.

Example: Solve for \(x\) in the inequality \(3x + 2 < 11\):
\[
3x < 11 - 2
\]
\[
3x < 9
\]

2. Divide or Multiply: When dividing or multiplying both sides of an inequality by a
negative number, flip the inequality sign.

Continuing from previous step:
\[
x < 3
\]



3. Solution Set: The solution can be expressed in interval notation or on a number line.

The solution \(x < 3\) can be represented as:
- Interval notation: \((-∞, 3)\)
- Number line: A line with an open circle at 3 extending to the left.

Graphing the Solution

Graphing the solution of an inequality helps visualize the values that satisfy the inequality.
Here’s how to graph \(x < 3\):

- Draw a number line.
- Place an open circle at the point 3 to indicate that 3 is not included in the solution.
- Shade the area to the left of 3, indicating all numbers less than 3.

Solving Compound Inequalities

When dealing with compound inequalities, the approach differs slightly.

Step-by-Step Process

1. Break into Two Parts: Split the compound inequality into two separate inequalities.

For example, from \(1 < x + 3 < 5\), we have:
- \(1 < x + 3\)
- \(x + 3 < 5\)

2. Isolate the Variable in Each Part:
- From the first part \(1 < x + 3\):
\[
x > -2
\]
- From the second part \(x + 3 < 5\):
\[
x < 2
\]

3. Combine Solutions: The combined solution is \(-2 < x < 2\).

4. Graph the Solution: The solution can be graphed by placing open circles at -2 and 2 and
shading the region between them.



Solving Absolute Value Inequalities

Absolute value inequalities can be solved by transforming them into two separate
inequalities.

Step-by-Step Process

1. Set Up Two Cases:
For the inequality \(|x - 4| < 2\), split it into:
- Case 1: \(x - 4 < 2\)
- Case 2: \(x - 4 > -2\)

2. Solve Each Case:
- From Case 1:
\[
x < 6
\]
- From Case 2:
\[
x > 2
\]

3. Combine Solutions: The combined solution is \(2 < x < 6\).

4. Graph the Solution: Similar to previous methods, place open circles at 2 and 6 and
shade the region between them.

Common Mistakes and Tips

When solving inequalities, students often make common mistakes that can lead to
incorrect solutions. Here are some tips to avoid these errors:

- Flipping the Inequality Sign: Always remember to flip the inequality sign when
multiplying or dividing by a negative number.
- Parentheses and Brackets: Use parentheses for exclusive bounds and brackets for
inclusive bounds in interval notation.
- Check Your Solution: Substitute values back into the original inequality to ensure they
satisfy the condition.

Practice Problems

To reinforce the concepts discussed, here are a few practice problems:

1. Solve the inequality: \(2x - 5 > 3\).



2. Solve the compound inequality: \(-3 < 2x + 1 < 5\).
3. Solve the absolute value inequality: \(|x + 2| > 3\).

Conclusion

Mastering the skill of solving inequalities is essential for students as they progress into
more advanced algebra and calculus. By understanding the different types of inequalities,
utilizing systematic solving techniques, and avoiding common mistakes, students can build
a solid foundation in algebra. Regular practice with various types of inequalities will
enhance problem-solving skills and boost confidence in mathematical reasoning.

Frequently Asked Questions

What is the first step in solving a simple inequality?
The first step is to isolate the variable by adding or subtracting terms from both sides of
the inequality.

How do you solve an inequality that involves
multiplication or division?
When multiplying or dividing both sides of an inequality by a negative number, you must
reverse the direction of the inequality sign.

What does it mean when the solution to an inequality is
represented on a number line?
It shows all the values that satisfy the inequality, with open circles indicating non-inclusive
endpoints and closed circles for inclusive endpoints.

How can you check if your solution to an inequality is
correct?
You can check by substituting a value from the solution set back into the original
inequality to see if it holds true.

What is the difference between 'and' and 'or' in
compound inequalities?
'And' indicates that both conditions must be true simultaneously, while 'or' means that at
least one of the conditions must be true.



What is an interval notation for the solution of an
inequality?
Interval notation is a way of expressing the set of solutions using parentheses and
brackets to indicate whether endpoints are included or excluded.
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